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Stop in for help every day at lunch and Tues &Thurs after school!

Virus

1. You will not get a high score on Monday'’s test by just doing this sheet. .Start by doing
this sheet and then go redo as many of your old sheets as you have time to do.

What day is the test? MM&IQW l MN‘C‘I\ q, IS

3. Your phone battery yesterdaymd‘ﬂ“: joules in the morning and 50 joules at lunchtime
For the battery, this change was (circle one exothermic.

n

4. Imagine a test tube where aluminum powder and iron(lll) oxide powder react to give off so
much heat that the only products are molten iron liquid and aluminum oxide.
a. Wirite a balanced reaction for this. Use the periodic table to make sure the charges and
formulas are correct. Use criss crossing if it helps you write the correct formula.

A@)" FEzozcs) 2 Fe ) 2 Alzo
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b. If the reactants are considered a system this change was endothenmc)

c. If the air nearby is the system this change was (exothermic ic) :
d. Based on the description of the reaction above, either write - 4 or +400kJ in the
parentheses below:

reactants > products AH=(-490)

e. Forthe change described above, the energy flow can also be described with the words
shown below -- except someone accidentally wrote the word heat twice.’ Cross off the
one that does not belong.

reactants +,W—) products + heat
5. Imagine a test tube where powdered barium hydroxide and powdered ammonium chloride
react to form a veeerrrriryyy cold pair of products: aqueous barium chloride and aqueous
ammonium hydroxide. 4
a. Wirite a balanced reaction for this. Use the periodic table to make sure the charges and

formulas are correct. Use criss cro sing if it helps you write the correct formul
Ba(o"‘)zm ZN“q f(s) = % BaCly b * [NH,OH

b. If the reactants are considered a system this change was (exothermic / a@u )

c. If your hand is holding this reaction your hand would feel (warm

d. Based on the description of the reaction above, either write — 23 kJ or +23kJ in the
parentheses below:

reactants > products AH = (‘Zsk :r>

e. For the change described above, thé energy flow can also be described with the words
shown below -- except someone accidentally wrote the word heat twice. Cross off the

one that does not belong.
reactants + heat > products %




6. In the below reaction, draw a big box around the products. Draw a circle around the
Reactants

’ZCzﬂc, +70,)—> }L«.‘o + W0
ﬁ‘é eRedr

74 The number of atoms in the products must add up to Lthe number of atoms in the reactants.
This is an example of the Law of € ©A ¢2 r/ar0A & ma S

8. classify each of the reactions below as one of the following reaction types

COMBUSTION, SINGLE REPLACEMENT,
DECOMPOSITION, DOUBLE REPLACEMENT
COMBI ATIQP
a. Com 19A any reaction that has oxygen as a reactant and water and carbon dioxide
as products
CeMBo gﬁbﬂ CHQ + 0, =>. CO, + HZO_
kPL ACEMENT '
c. D 3 \ Zn '+ Pb(NOs), > Zn(NOs); + Pb ;
d. COMBINATION Al + 0, > ALOs

: S\“C e Qmﬁwe reaction we did in lab last week with the nail (see your notes )
f. DoBe P“Em@eéfﬁ NaOH - Fe(OH); + NaCl

g SINCE EPLACEMAT, 110 > NaoH + H,

Energy in Chemical Reactions

1. Classify the following as exothermic or endothermic:
a. The metabolism of glucose in the body provides energy. Assume that the body is

the system eNlD'“&(M\ L

b. The energy level of the products is lower than that of the reactants. EX 'THER NC
c. 125 kJis absorbed. EMDOTHERNI ¢

2. Classify the following as exothermic or endothermic reaction and give AH for each:
a. Gas bumlng in a Bunsen burner: CH4 +20; — CO2 + 2H,0 + 890 kJ

ExoTuemc , =80k

b. Dehydrating limestone: Ca(OH), + 65.3 kJ — Ca0O + H,0 s

Emmeﬁm’ 24 = +65 2T




Remember that the following subjects are on
the test too:

1) balancing reactions (the baseball-fish sheet)

2) writing the name of molecular compounds
(the volleygal sheet)

3) energy diagrams, like this (Thursday’s ‘three
star’ sheet):

Reactants 4 Energy Flow Reactants, Energy Flow Products
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